



(An Autonomous Institution)
Coimbatore – 35

DEPARTMENT OF MATHEMATICS UNIT-I FOURIER SERIES

CHANGE OF INTERVAL :

However series expansion in
$$(0, al)$$

$$\frac{1}{2}(n) = \frac{ao}{a} + \sum_{n=1}^{\infty} a_n a_n \frac{n\pi}{2} n + \sum_{n=1}^{\infty} b_n n^n \frac{n\pi}{2} n$$
where $a_0 = \frac{1}{2} \int_{-\infty}^{\infty} c+2l \int_{-\infty}$

Jet 7(n) = \frac{a}{2} + \frac{10}{2} \text{ an cos \frac{10}{1}} \text{ an sin \frac{1}{1}} \text{ an sin \frac{10}{1}} \text{ an \text{ an sin \frac{10}{1}}} \text{ an \text{ sin \frac{10}{10}}} \text{ sin \frac{10}{10}} \text{ sin \text{ sin \frac{10}{10}}} \text{ sin \frac{10}{10}} \text{ sin \frac{10}{10}}} \text{ sin \frac{10}{10}} \text{





(An Autonomous Institution)
Coimbatore – 35

Now
$$a_0 = \frac{1}{4} \int_{-3}^{\infty} (l-n)^2 dn$$

$$= \frac{1}{4} \left[\frac{(l-n)^3}{-3} \right]^{\frac{2}{3}} = \frac{1}{4} \left[\frac{-43}{-3} - \frac{1}{3} \right]$$

$$= \frac{2}{3}^2$$

$$a_1 = \frac{1}{4} \int_{0}^{2} (l-n)^2 a_1 \sin dn$$

$$= \frac{1}{4} \left[(l-n)^2 \frac{a_1 \sin dn}{n} - 2(l-n)(-1) \left(-\frac{a_1 \cos n}{n} \right) + 2 \left(-\frac{a_1 \sin n}{n} \right) \right]$$

$$= \frac{1}{4} \left[-2 (l-n) \frac{a_1 \sin n}{n} - 2 \left(-\frac{a_1 \cos n}{n} \right) - (l) a_1 \cos n \right]$$

$$= -\frac{2}{4} \cdot \frac{l}{(n\pi)^2} \left[(-l) \frac{a_1 \cos n}{n} - (l) a_2 \cos n \right]$$

$$= -\frac{2}{4} \cdot \frac{l}{(n\pi)^2} \left[-l - l \right]$$

$$= \frac{1}{4} \int_{0}^{2} (l-n)^2 \frac{a_1 \sin n}{n} dn$$

$$= \frac{1}{4} \int_{0}^{2} (l-n)^2 \frac{a_1 \sin n}{n} dn$$

$$= \frac{1}{4} \left[\frac{a_1 \cos n}{(n\pi)^2} - 2(l-n)(-1) \left(-\frac{a_1 \sin n}{(n\pi)^2} \right) + \frac{a_1 \cos n}{(n\pi)^2} \right]$$

$$= \frac{a_1 \cos n}{n} \left[\frac{a_1 \cos n}{(n\pi)^2} - 2(l-n)(-1) \left(-\frac{a_1 \sin n}{(n\pi)^2} \right) + \frac{a_1 \cos n}{(n\pi)^2} \right]$$





(An Autonomous Institution)
Coimbatore – 35

2) Obtain the Fourier series empansion for
$$f(m) = \begin{cases} n & 0 < n < 1 \end{cases}$$

Soln:

Here the interval is $(0, 2)$.

 $length = b-a$
 $2l = 2 \implies l = 1$





(An Autonomous Institution)
Coimbatore – 35

$$\frac{1}{\sqrt{n}} = \frac{\alpha_0}{2} + \frac{8}{\sqrt{2}} a_1 a_2 n_{11} n + \frac{8}{\sqrt{2}} b_1 n_{11} n .$$
New $a_0 = \frac{1}{\sqrt{2}} \int_{0}^{2} f(n) dn$

$$= \int_{0}^{2} n dn + \int_{0}^{2} (1-n) dn$$

$$= \left[\frac{n^2}{2}\right]_{0}^{2} + \left[n - \frac{n^2}{2}\right]_{0}^{2}$$

$$= \frac{1}{2} + \left[6 - \frac{4}{2}\right]_{0} - (1 - \frac{1}{2})^{\frac{3}{2}}$$

$$= \frac{1}{2} + \left[0 - \frac{1}{2}\right]_{0}^{2}$$





(An Autonomous Institution)
Coimbatore – 35

$$\frac{\left[\frac{c_{11}}{(n\pi)^{2}} - \frac{c_{10}}{(n\pi)^{2}}\right] + \left[-\frac{c_{11}}{(n\pi)^{2}} - \left(-\frac{c_{10}}{(n\pi)^{2}}\right)\right]}{(n\pi)^{2}} = \frac{(-1)^{n}}{(n\pi)^{2}} \cdot \frac{1}{(n\pi)^{2}} \cdot \frac{(-1)^{n}}{(n\pi)^{2}} \cdot \frac{(-1)^{n}}{(n\pi$$